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2017 (A) S S g Ao
SSC PART{ (9th CLASS)

ECONOMICS SUBJECTIVE ¢Le b
TIME ALLOWED: 210 Hours 210 = =X
MAXIMUM MARKS: 60 60 = AF
NOTE: - Write same question number -:lz.ﬁ;;:;ﬁ;.{_élr-&s‘g Em,c;rzav-:?dlrwu;q&}m i

and its part number on answer book, as given in the question paper.

SECTION- i@

2. Attempt any six parts. 12=2x6 LS limga &S 240
{1 Econcmics is which type of knowledge in Adam's Smith definition? Tl ,T" F»"J f....l.rw.,, R i, Fl-fv‘u (i)
(i VWhois called the founder of Economics? te Pl e blnatsy” (i)
(i)  What is meart the alternate use of Rescurces? fe sV JEE s s i
(v}  What is the difference between Micro Economics and Macro Economics? -J}EJMQGPG?;H;FPJLE (i)
(v  Define Utility S AE ()
(vi)  What |s meant by Scarcity? | fee olle J}.f‘r vl
(vii)  Write down the two characteristics of Wants el (i
{viii)  Write down the names of four kinds of Waealth. -.;E;'lf*l:irl.f'ug ._f.:J:.- {wiit}
{ix) 'Whatis meant by Fres Goods? ?rf_:b*k-r;:.L;IJ:rﬁ* (ix)
3. Attempt any six parts. 12=2x6 _55;?:4@{1-2!@ :-Jf -3/:?;..!11*
(i Write the functional equation of Demand. “E feeFEd )
(i) What is meant by Demand? PR ()
{iify  VWrite two assumptions of Law of Damand -éausﬁjjimﬁﬁ iy
(ivy  VWrite two conditions of Damand. -u:"i'tlﬁl;:un_&i.,.-'ﬂ {iv)
v What is meant by Supply? "‘h-J!‘."L"!";-ﬂ'J v}
(v}  Write two stages of Elasticity of Supply. ,L,':’”.;fw.u.ruhﬂ TR (Y
(vii)  \What is meant by Stock? T s (vil)
(viiiy  What is meant by Equilibrium? T.;..::;y‘i:,;ul_i {viil)
{ix}  What is meant by Market Equilibrium? fealrle wildfie (%)
4. Attempt any six parts. 12=2x6 Efevrlizige 8 4Ly
(i) Write two kinds of Market with respect to competition. -Vf&tirﬂlsﬂdbr-ﬂ#&{-@ i
(i) Deflne Market with reference to Economics. = t.‘f_%,*/'-JJx*;.Lin..-.Ew {ii)
{iiy  What is Market according to Lipsey? '-’..;_g"J Sltesl (Lipsey) .;’ (i
{iv)  What is meant by Short Pericd Market? 'i'—f-"f"'i.fr’—i."'i?&-‘f” n.-""E {iv)
(v)  Write two negative effects of high population growth -...e‘-'-’r :-"—'-?’té‘huditilrliifﬂkr {v)
{(vi}  Write two methods tc control increase in Population, -L,;:'E.-i'r ,-"a:ii.zﬁ:ﬁ’j@::_.ﬁ@i {wi}
(wii)  Write two causes of incustrial backwardness in Pakistan. _-‘,,r.:":.r:.lrfmJquLr‘S“w L,ﬂ,'L:-" (Wi}
{viil)  Which two factors the Poverty depends? Write. -.,,Lx,;?’ Tz y r"u|,,l‘ Wi {will)
{ixj  Writz two methods for remedial measures of liiseracy. -u:""’ 2 Al b ﬁ‘-:;_};:fl: {Ix)

SECTION-I e
NOTE: - Attempt any three questions. 24=3x 8 -ﬁ;f@ktﬂ';‘i@ﬂkﬁ;éf -

g8 Explain In detail Professor Robbins's definition of Economics. u‘lnqu"'ﬁ'_Jvu_ffbﬁg i 5
What are the factors that affect the supply other than price? ‘..;_,g_.‘h,f;,b,rmf S .;,,',—,:'::Lls...:.f B
Explain Market Equilibrium with the help of schedule and diagram, i -JEJ‘Lﬁn'.."-.-JJi_fr'./glJ‘f"l..'|!‘}}l’fcj.:'+;’4:..lj.'&'~' o

Describe the Importance of Capital, -L{:f;,' b N Ve -5

Write the remedial sleps tc remove Poverty in Pakistan. -u:'"T.E,;. )-.’:.-Lf?s = z‘:l..-f-'--:.-'u"-fl;, ]
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PAPER CODE 2017 (A) S5 S

NUMBER: 1 1 1 1 SSC PART-l (9th CLASS)
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MAXIMUM MARKS: 15 15= AF
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Mota: You have four choices for each objective type question as A, B, Cand D, -L{J‘E-Uw:fbmﬂ‘g{.éb’

The choice which you think is correct, fill that clrcle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded
In case BUBBLES are not filled. Do not sclve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

{1) "Economics is the Science of Wealth" according to:- N 'T-I’J‘ T g T (&)
{A) Marshall .,,,"‘j-; (B} Adam Smith &7 iC) Keynes & (D) Robbins .

(2) Alfred Marshall wrote a book "Principles of Eccnomics” in:- -u"ﬁ.;, S e Cmlrbs r.__{,ﬁl-lﬂ' (2)
(A) L2 1880 (8) = 1885 (C) 2 1398 (D) & 1899

{3) lEwas due to Scarcity, Socisty is forced to- (A) Make roads < rl:f.;_,':’.} _-:,xbﬂ.;..gs:.'lfdi_f"r (3}
(B) Save resources rl'_':'li':;_,l:in (C) Make choices &/ F (D) Stop operating =& s

(4) The utility gained by all the units of a thing is called:- -r_L'U-r'u s and Pl UK 2 :_.{:F_x.," (4)
{A) Marginal utility nEi,';'r (B} Total utilty +61.¥ (C) Diminishing utility ul-!h..a-‘}y' (D) Maximum utility ssbLz =

(5) By increasing the pricea of agood, the _ of substitute good e Lslre Bmy=dil "lf (5)
(A) Price decreases ,I;_J;?,f;,.f (B} Price increases .::-...,-,::l..w::_-.{_
(C) Demand decreases <. /¥ (D) Demand increases < Jivs st

(8) The Law of Demand does nol apply on goods. -:'ﬂ-_e'.'f{l._r"' ki ki {6}
(&) Inferior gf (B} Giffen u’f 1C) Scarcs .,.l=;‘r {D) Superior Lex

i7) The slope of supply curve is:- ~g-bud €7 KA LS {7
(A) Positive =3 (B) Negative ,j:’ () Harizon:al u-‘il (D) Vertical JaF

(8) Quantity suoply is a part of - e i (2)
(A) Purchase 7 (B} Sale K=3y/ (C) Utility € (D) Stock #:.7;

(8) Law of One Price holds in:- ethlevadd (@
(&) Imperfect market .,,ﬁd.i:--d"rl: (B) Perfect market .,_,L’Jim"‘r (&) Sznool L:J,-f- {0 House ,_;:'/f

(10) Equiliorium means: - s AbplY (10)
{A) Unstable condition il ;_,F"’:“;f (B} Stable position .;.-'hrrj?"
{&) The condition that is not possible J-r.:._-;‘?ﬂ,_-.)h,;jil {D) Condition that can change hrv._,. o I

{11) Supply curve in daily market is:- -L;r_w.a.m'-:-u.'d.a.'-?.f (11)
(A} More elastic .:ugnl::- (B! Less elastic Jl.vg -3 (C) Non-elastic .nu.E‘T Jf-‘ (D) Equal elastic Ju.ﬁ.a:‘x

12y ____ Is not a factor of Production. -;i_._,,"."-“ £730 - X -
(&) Land ge (B} Production At {C) Labour = {C) Capital b~

{13} The kinds of market under competlition are.- -LE'I:IFJ‘:E“;'l,;-.E.;‘C-F'.‘!i-éE‘ {13
{A) Two (B) Three (C) Four 4 (D) Six &

{14) Reason of Agricultural backwardness is due to- -.;_.rudfi:l.r;&; {14}
(&) Inadzquate facllities of irrigation 2 41"' L}FE'JJ LT (B} Water logging and salinity J.;’:f
(C) Modern method of cultivation (SE&5K3 A (D) Perfect market di‘«,‘;

(15) Average expected life in Pakistan Is:- ﬁf_l_!i;}hasl .:’:f';,x:urf’; {15)
(A) Ji- 30 years (B) Ji- 33 years {C) J\ B85 years (0) Ji- 80 years
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2017 (A) P peaty

s 0
SSC PARTA (9th CLASS) _;,D ) h
ECONOMICS SUBJECTIVE ~&iL» T el
TIME ALLOWED: 2.10 Hours 2210 = o
MAXIMUM MARKS: 60 60 = AF
NOTE: - Write same question number el Loy JrSa st &,.u/:fszﬂyfdxfﬁ,{gir@ﬁ coide ¥
and its part number on answer book, as given in the question paper.
SECTION-| sl
2. Attempt any six parts. 12=2x6 EEfeLime e §F 20w
(I Economics is which tye of knowledge in Adam's Smitn definition? %L B L AT )
(il Whois called the founder of Economics? PR AL e S ()
(i)  What is meant the alternate use of Resources? e slpble JEIBEL S0 (il
(W) What is the difference between Micra Economizs and Macro Econcmics? _L,r_‘rmjjuf.:.-yb»&_ﬁnl_-.gﬁbajgzz (1]
(v)  Define Utility. R ST TR (1)
(vi)  What is meant by Scarcity? el e :..,;i.rfr (w1}
(vii)  Write down the two characteristics of Wanis. 1;.;':4'{ - fr-‘;::ura.?a.r {wii}
(i} Write down the mames of four kinds of Weaith. = -f,.'”’g*:ﬁ.rﬂbk Sy {viii)
(i)  What is meant by Free Goods? el Pifel (i)
3. Attempt any six parts. 12=2x6 -égfa&[ﬁﬁﬁb{agﬂ( 3401
(i} Write the functional equation of Demard. “E e FEIE ()
(i)  Whatis meant by Demand? P S (1)
(i) Write two assumptions &f Law of Demand. el I E (i)
(v} Write two conditions of Demand. huf%lﬁd}w {iv)
{v)  Whatis meant by Supply? el (V)
{vi)  Write two stages of Elasticity of Supply. _U:"j..-,lfuuci...l,? da (v
(vil)  What is meant by Stock? T sple o d (uii)
{vill)  VWhat is meant by Equilibrium? P s phla i d (i)
(ix}  What is meant by Market Equillbrium? ‘i‘.f,:r'_fy?_ PR aR  (ix)
4. Attempt any six parts. 12=2x6 -é}f;l,mﬁﬁ%g:.éf Al
(it Write two kinds of Market with respect to compatition _;,::’"F'tir'ﬁlu.;_,rij e Bl 5 (i)
(i} Define Market with reference to Economics. At 1P = (i)
(i) What is Market according to Lipsey? e i el (Lipsey) = (i)
()  What is meant by Short Period Market? T r'/':'"f-di:*ur-ﬂfﬁ (i)
(v}  Write two negative effects of high population growth -._,T."E:f.?lﬁndff_'f Ladl i fa T )
(vi}  Write two methods to control increase in Population, B B L SDATBIRA )
(vil}  WWrite two causes of industrial backwardness in Pakistan ..,;'.“"’r._-..lr:::.-,-.f.fz-' »-:‘Cf"p ._,.:.‘ui..':r"l; {wii}
(vill  Which two factors the Poverty depends?  Write. WLhF tetny el i)
() Write two methods for remedial measures of lliteracy. ..,,rf"'T.?’7 Al ﬁ%ﬁfx!ﬁc (ix)

SECTION-Il pa.2
NOTE: - Attempt any three questions. 24=3x8 ué':_ffn:.r';fﬁﬂr_lu::mfdaéf —y

§  Explain in detail Profassor Robbins's definition of Economics IR Y e Haee 5
8 What are the factors that affect the supply other than price? WAL S W bl e 6
7 Explain Market Equilibrium with the help of schedule and dia grar. -+ zbba:.-;ﬁ*l;?l ot BT S e -T
8  Describe the importance of Capital, ~Slokedtidil .8
g Write the remedial steps to remove Poverty in Pakistan. h.-,,.'.fjé‘, )-‘.':Jr'._f?’ n:-,_,':;,ﬂul?"‘ll.‘ =3
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Note: You have four choices for each ebjective type question as A, B, C and D, _sz.':ub:-;.-..ubﬂ.,;.;.;,élf

The cholce which you think is corract, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result In zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) "Economics is the Sclence of Weath" accoreing to:- h .;,-*a’;é;.:—flr Y {1}
{A) Marshall .ﬁL (B) Adam Smith i"}'.-'l' (C) Keynes _ﬁ:" (D) Robbins .

(2) Alfred Marshall wrote a book "Principles of Economics” in- ¥ ;D’J DTC TS ATy (2)
(A) L= 1890 (B) (= 1895 (C) o= 1898 (D) L~ 1899

{3) It was due to Scarcity, Scciety is forced to:- (A} Make roads < L“L':._.!:'F;r i w;.;-uﬂ.i;;"' (3)
(B) Save resources f.__ti.;*-;_,}"m (C) Make choices .g_!.'f.:. = (D) Stop operating q_:uj:‘«x‘:-'

(4) The utility gained by all the units of a thing is called:- -.;th?:ilp:.J;“b;ufs' plFE '.:; {4)
(A) Marginal utifty 617 (B) Total utility 1s61.F (C) Dimirishing utifity 501> (D) Masimum utiity +:812

(5) By increasing the price cf a good, the ____ of substitute good. -:\,E:-i.._J:F-—_Fa ped fE -ﬂl.‘f (3)
(&) Price decreases .g.._-,"ll.f.)'..-.vt_; (B) Price increases .f_.jn;.:m v d
(C) Demand decreases .;:H;;':,.J-i {D) Demand increases < {:lllga-.*:-_-J'L

{6) The Law of Demand does nat apply an goods .'::r.;_,r:-i;tfl S Il (B)
(A) Inferior L& (B) Giffen o (C) Searce i (D) Superior L2

(7) The slope of supp'y curve |s:- ~ e TS s ld (7
(A) Postive =3 (B) Nagative & {C} Horizontal J"'i (D) Vartical JoF

(8) Quanlity suppy is a part of - e (8]
(A) Purchase K17  (B)Sale ¥u3/} (C) Utility € (D) Stock £,

(%) Law of One Price holds in:- -a,‘—’-‘f']"fuli“'ﬁ'-:-*.; oy (9)
(A) Imperfect market ..,,-‘-‘Ji'—*d'; t (B} Pefect market JJJPJ‘; {C} School L,,CJ; (D) House = fr

(10) Equilibrium means - sewbEly (10)
{A) Unstable condition :.u_f_f}'f;_" (B) Stable position ..-s-r'l.rl‘gy
(C} The condition that is not possible x.:u‘p;?_-r'bufl (D) Condition that can change .EHJ: S g

(11) Supply curve in daily market is:- —e bt U Ao {11)
(A} More elastic .4t (B) Less elastic 44 4 (C) Non-clastic .uf Z (D) Equal elastic ad.clc

(124 ie not a faclor of Praduction ~+J‘JL:':-‘A_-_:JL> — {4
(A) Land gaJ (8) Production hle (C) Labour = (C) Capitel b

(13} The kinds of market under competition are:- - EJ:*;’LE-'Jﬁ-?'*‘-‘—EUE—:'-E" (12)
(A) Two s () Three & (C) Four .k (D) Six

{14} Reason of Agricullural backwardness is dua to:- -j-.-g:;.iru'zb?;f;i (14)
(&) Iradeguate facilities of irrigation u‘ﬂ."‘ L.Iw'i’ b fuﬁ I;J (B) Water logaging and salinity Py
(C) Modern method of cultivation (8565 A e (D} Perfect market ;_:'.L'a-d';

{15} Average expected life in Pakistan is:- S .;;&-'_ih-s'f: r"l_,-’:u,JLT-"# (15}
(A) Ji- 30 years (B) JL- 33 years (C) JL- B5 years (D) J- 80 years
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